DIN 938, 939

Stiftschrauben

X2 X1

by bz

DIN 938 = mit Einschraubende =1d

x2 X1

by bz

DIN 939 = mit Einschraubende = 1,25 d

b, = Einschraubende
b, = Mutterende

b' fiir | =125 mm
b2 fuir | £ 200 mm
b3 fiir | > 200 mm

MaRe M 5 M 6 M 8 M 10 M 12 M 14
b, com o3) 5 6 8 10 12 i
b: (om o3) 6,5 7.5 10 12 15 18

X, 2 2,5 3,2 3,8 4,3 5
X, 1 1,25 1,6 1,9 2,2 2,5
b, ! 16 18 2 26 30 34
b, 2 22 2 28 32 36 L0
b, ? - - - 45 49 53

MaRe M 16 M 20 M 24 M 27 M 30
b, com o38) 16 20 2 27 30
b (o 539) 20 25 30 35 38

X, 5 6,3 7.5 7.5 9
X, 2,5 3,2 3,8 3,8 4,5
b, ! 38 46 5L 60 66
b, 2 Ll 53 60 66 72
b, ? 57 65 73 79 85




